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1 |EREBRFEHKE 5 20 844 275 75 32.6 1 |REAZEKRE 5 20 12 5 1 41.17
2 |BARBRERE 5 19 873 271 58 31.7 2 [E2fEXRE 5 22 3 1 0 33.3
3 |EBEXRE 5 22 925 291 11 31.5 3 [SERERKE 5 18 12 2 3 16.7
4 [BEARZEKE 5 20 922 288 56 31.2 4 [{EBEXRZE 5 19 8 1 3 12.5
5 |tEE K% 5 19 810 250 73 30.9 5 [BARBRERE 5 19 17 2 4 11.8
6 |fEFEFRKE 5 18 778 202 52 26.0 6 |EREXFEHKE 5 20 4 0 0 0.0

TRAYIRERE (%) =HBE--ITH*100 NI T TRYTREE (%) =HFR-ITHX100
T LITRERE (#E0) JOvIRERE (Ly )
. b4
< + N 2 *R s b4
B R A B = /B Y
& P i m] & P =
i FoL% g E oz | & |4 Fo4E 2| K " &
% b e % i
1 | SR EXE 5 22 925 31.5 290 1 291 1 |EERZEKE 5 20 33 1. 65
2 |REREEXE 5 20 922 31.2 283 5 288 2 [tEEXRZE 5 19 29 1.53
3 |BAREEFRE 5 19 873 31.7 275 2 277 3 [BAREEXRE 5 19 26 1.37
4 [EREXFEHKRE 5 20 844 32.6 275 0 275 4 [EREXE 5 22 19 0.86
5 |tEE X% 5 19 810 30.9 249 1 250 5 |[BEREBLFEHKE 5 20 17 0.85
6 |#EAEFRERE 5 18 778 26.0 200 2 202 6 [EFEFEIRKE 5 18 7 0.39
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1 [BREZFRERHAKRE 5 20 429 27 178 38 14.5 1 |RERZEKZE 5 20 381 234 0 147 61.4
2 |BEREEXE 5 20 470 19 211 16 14.4 2 [iEEXRZE 5 19 390 | 229 0 161 58.7
3 | EBEXRE 5 22 464 25 184 42 13.0 3 [BREERE 5 19 368 | 194 0 174 52.7
3 |tEEXRE 5 19 418 21 159 25 13.0 4 [BERELXFEHKE 5 20 390 | 196 0 194 50.3
5 |HARERE 5 19 443 14 191 25 12.5 5 [EfRFERKE 5 18 375 | 186 0 189 49.6
6 |HEAFRERE 5 18 358 10 154 20 12.2 6 |EBfERE 5 22 465 | 230 0 235 49.5
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